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International Finance Management (Exam D)

I. Explaining the following terms: (20 points)

1. International Reserves 
2. Dollarization 
3. Expenditure-changing policy 
4. Hedging

5. Balance of payment
II. Multiple choices（20 points）
1. Under the gold standard，international reserve assets includes:（  ）。 

A. US Dollar       B.  Gold     C. Pound      D. SDRs

2. The U.S. current account does not include:

A.net exports of goods.                B. U.S. grants to foreign countries.

C. the sale of U.S. bonds to foreigners    D. income receipts from foreigner

3. At present, what is the foreign exchange system in china. （  ）。
A． fixed exchange rate system   

B.   free-floating exchange rate system

C.   managed-floating exchange rate system  

D.   adjustable peg exchange rate system

4. Which of the following is entered as a credit in the U.S. balance of payments?

A. A construction company in the U.S. imports $5 million worth of steel from Japan.

B. Gold leaves the U.S. Treasury for another country.

C. An American auto manufacturer exports $56 million in cars to Europe.

D. The United States grants $4 billion in aid to Russia.

5. When a German buys a U.S. Treasury bond, there will be a(n):

A. increase in the demand for dollars

B. increase in the demand for marks

C. decrease in the demand for dollars

D. increase in the supply of dollars

6. An appreciation in the U.S. dollar refers to:

A. an increase in the dollar price of a foreign currency

B. a decrease in the dollar price of a foreign currency

C. a decrease in the foreign currency price of the U.S. dollar

D. none of the above

7. The monetary approach to exchange rates is generally:

A. successful in explaining short-run and long-run exchange rates.

B. successful in explaining short-run exchange rates, but is bad at explaining long-run exchange rates.

C. successful in explaining long-run exchange rates, but is bad at explaining short-run exchange rates.

D. bad at explaining short- and long-run exchange rates

8. The quantity theory of money would predict that a 23% increase in Country A's money supply should eventually lead to a:

A.11.5% increase in exchange rate value of the currency

B. 11.5% decrease in the exchange rate value of the currency.

C. 23% increase in the exchange rate value of the currency

D. 23% decrease in the exchange rate value of the currency

9. Developing countries tend to have:
A. floating exchange rates    B. pegged exchange rates.    

C．no exchange rate.        D. continued with the Bretton Woods System.

10. In the period before World War I, the exchange rate system that existed was the:

A. Limited Anarchy System.       B.  Bretton Woods System.

C. Gold Standard.               D. none of the above
III. True or False: (10 points)
1. For an investment in a foreign-currency-denominated financial asset, part ofthe return comes from the asset itself and part from the foreign currency. 

2. It is best for a country never to borrow from foreign lender. 

3. Countries whose currencies are linked to each other through fixed exchange rates usually should pursue very different monetary and fiscal policies. 

4. Debt rescheduling programs can be used to make debt service easier for borrowing countries to deal with by lowering the amount of debt.
5. A proposal to increase controls on capital flows into developing countries, if implemented, can be expected to limit over borrowing and exposure to contagion, but also reduce the benefits that can accrue from international borrowing.
6. Increases in interest rates in the U.S. can help borrowers in developing countries by increasing capital flows into developing countries and making it easier for them to repay their debts.
7. An exogenous decrease in imports will shift the IS curve to the right.
8. Expansionary monetary policy will shift the LM curve to the right. 
9. The official settlements balance is in deficit if the IS-LM intersection is on the FE curve.
10. Large U.S. government deficits were responsible for the rise in the trade deficit in the 1990s.
IV. Calculate (20 points)
1. You have access to the following three spot exchange rates:

            New York:  ₤1=$1.20

            London:    ₤1=￥150

            Tokyo:      $1=￥100

  If you have $100,000

(1) How would you engage in arbitrage to profit from these three rates? What is the profit for each $100,000 used initially?

(2) If in the New York market, the 3-month forward exchange rate is ₤1=$1.15, is the pound at a forward premium or discount? What’s the rate of appreciation (depreciation) of pound (per annum)? 

2. The following rates are available in the market:

The current spot exchange rate: $2.00/₤

Annualized interest rate on 60-day U.S. dollar-denominated bonds:6%,
Annualized interest rate on 60-day pound-denominated bonds:9%,

Investors currently expect the spot exchange rate to be $2.02/₤ in 60 days.

If you are an America investor, and the uncovered interest parity holds, what kinds of the bonds you will choose, why?

V. Answering the questions (30 points)
1. “A country with a deficit in its overall international payments runs the risk of increasing inflation if it defends its fixed exchange rate by official intervention in the foreign exchange market.” Do you agree or disagree? Why?

2. “Overshooting is the basis for the enhanced effectiveness of monetary policy under floating exchange rates.” Do you agree or disagree? Why?

3. A country is worried that business cycles in other countries tend to disrupt its own economy. It would like some “insulation” from foreign business cycles. Why would this country favor having a floating exchange rate?

Suggested Answers:

I. Explaining the following terms:

1. International reserves: The assets which the monetary authorities can use them to interfere with the foreign exchange market or to pay for the balance of payment.

2. Dollarization:  The country’s government to abolish its own currency and used the currency of some other country.

3. Expenditure-changing policy: Change the aggregate demand or the aggregate expenditure to adjust the balance of payment.

4. Hedging: Position exposed to rate risk, is the act of reducing or eliminating a net asset or net liability position in the foreign currency.

5. Balance of Payment: The set of accounts recording all flow of value between a nation’s residents and the residents of the rest of the world during a period of Time.

II. Multiple choice
1. B   2. C   3. C   4. C   5. A   6. B   7. C   8. D   9. B   10.  C
III. True or False:
1. T   2.F   3.F   4.F  5.T   6.F   7.T   8.T   9.F   10.F
IV. Calculate
1. (1) sell the U.S.$100,000 to buy ￡83,333.33 in New York ; and sell these pounds to buy ￥12,500,000 in London, convert these yens back into dollars in Tokyo at the same time. You end up with U.S.$125,000.The triangular arbitrage has made U.S.$25,000 profit for each $100,000 you start with. 
    (2) The pound is at a 3-month forward discount for 1000 points. [(1.15-1.20)/1.2]×12/3=－16.67%, the rate of the depreciation of the pound per annum is 16.67%.

2. (1) Invest in dollar-denominated asset: (1+6%/6)=1.01 

(2) Invest in pound-denominated asset: (1+9%/6) /2×2.02=1.02515 
So, if I am an America investor, and the uncovered interest parity holds, I would invest the pound-denominated asset, and the profit is 0.01515/$. 
V. Answering the questions
1. Disagree. The risk is raising unemployment, not rising inflation. The deficit in its overall international payments puts downward pressure on the exchange rate value of the country’s currency. The central bank must intervene to defend the fixed exchange rate by buying domestic currency and selling foreign currency in the foreign exchange market. As the central bank buys domestic currency, it reduces the monetary base and the country’s money supply falls. The tightening of the domestic money supply puts upward pressure on the country’s interest rates. Rising interest rates reduce interest sensitive spending, lowering aggregate demand, domestic product, and national income. The risk is falling real GDP and rising unemployment.

2. Agree. The change in the exchange rate that occurs when there is a change in monetary policy is the basis for the enhanced effectiveness of monetary policy under floating exchange rates. For instance, when monetary policy shifts to be more expansionary, the decrease in the country’s interest rate results in a depreciation of the country’s currency. This is essentially overshooting. It is overshooting relative to the path of the exchange rate implied by PPP so that the depreciation improves the country’s international price competitiveness. The improvement in price competitiveness enhances the effectiveness of the policy. The country exports more and shifts some of its spending from imports to domestic products, further increasing aggregate demand, domestic product, and income.

3. Disagree. Under floating exchange rates the decrease in our exports reduces demand for our currency in the foreign exchange market so our currency depreciates. The depreciation improves our international price competitiveness so exports tend to rebound somewhat, and some spending is shifted from imports to domestic products. This increase in aggregate demand counters the initial drop in demand for our exports, so the adverse effect on our domestic product and income is lessened. This exchange rate adjustment is not possible if the exchange rate is fixed. In addition, with a fixed exchange rate our overall international payments go into deficit when our exports decline. The central bank then intervenes to defend the fixed rate by buying domestic currency. The reduction in the domestic money supply raises our interest rate and makes the decline in our domestic product larger.


